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How to use CPLEX?

int i_max = ...;// ITTORAFOHRKIE
» tr.mod int j_max = ...;// FIOHRAFDOZEKIE

range I = 1..i_max;// 1TOHRAFDEE [1..i_max]ZETE
range J = 1..j max;// SDHZAFODERE [1..j max]ZIETE

int d[3] = ...;// TBEEANVMILERE d = [d1,d2,d3]
int s[I] = ...;// BHEARIFLERE s = [s1,s2]
int c[I,3] = ...;// BEIRMETE C YA XI X IDITH

dvar float+ x[I,]];// Z#ES ETHANIUL)L(size: Ix1])

minimize
sum(i in I) sum(j in J) c[i,j1*x[i,]];
subject to{
forall(i in I) {
sum(j in J) x[i,j] <= s[i];
¥
forall(j in J) {
sum(i in I) x[i,j] == d[]];
¥
¥



How to use CPLEX?

» trex]1.dat i_max = 2;// fTHORKEZEE
j_max = 3;// HBDEKXEZIETE

d = [50 80 60];
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